@& TOYOTA

Toyota Genuine Audio

INSTALLATION INSTRUCTIONS

FOR

Avensis Verso (RHD)

*k MZ*R

Manual Ref. n® ASRM2/W-2.pdf TOYOTA MOTOR CORPORATION



Avensis Verso (M2) TOYOTA GENUINE AUDIO

TABLE OF CONTENTS @

1. APPLCALION CRAN ...t et be b re e 4
2. SYSTEM LAYOUL ..ottt ettt b e b et e e besa s neere e 12
3. Combo / Add on Unit INSTAlALION .........ccvouiiiiicecee e 14
3.1 Vehicle DiSASSEMDIY .....c.oeeiiece e 14
3.2 1DIN Audio INSTAllATION ..cveiveeceeee e 15
3.3 1.4DIN Audio INSTAIALION ...cvoiviiciieeee e e 16
3.4 Wide-2DIN Audio INSTANALION .......ooiiiiieieece e 17

4. CD-, MD-Changer and Subwoofer INStallation ............ccooeeiieieieceee e e, 18
4.1 Vehicle DiSASSEMDIY .....ccveieieeeeeeee e e E 5 e e e ene e eneas 18
4.1.1 In case of Installation under the Passenger’s Seat ... ... e hctence e, 18

4.1.2 In case of Installation in the Luggage Area ... ..b b i o 20

4.2 CD- and MD-Changer InStallation ................cccmi i iinhe o it 25
4.2.1 Hanging under the Passenger's Seat ... i e e 25

4.2.2 Inthe LUQQAge ArBa .......ccih ittt dete ettt ne e ens 33

4.3 Subwoofer INSTAlAtioN ... i i 40
4.3.1 Hanging underthePasSENger’s Seat ............cccccoviiveiiiiiceeeeeeee e 40

9. Qutside Temperature-SensorAnstallation ..o 45

Avensis Verso (RHD) - 3 08-01



Bununow reas Jobuassed : () 910N

Bununow ease abebbnT : (g) 910N

[euondo Josuas ainjesadwsal apisinO : (T) a10N

+ I Bununop 1eas BuibueH = £0800-56980

(€) (£0800-66980) M/ + (0102#-22SGG) @1eld-18A0)

(£0800-66980) M/d + (0102-22SGG) 81eld-19A0)
(01021-22558) 81eld-1eno)
(¢) (£0800-6980) M/4 + (0102#-22GGS) 8eld-1an0D

(£0800-66980) /4 + (0102#-22SGG) 81eld-18A0)
(01027-225G6) ereld-19n0)

(0L021-22S56) 81eld-1eno)

(0L021-22556) 81eld-1eno)

S1Yvd TVNOLLIAAV a3yIND3Y

(00600-10980) 0990/ 426ueyd-aW

(21600-10980) L9¥0WL 496ueyd-) Bununoy jeas

(usa1b) G9600-00980 Jabueyd-qiN + Jeun1-ao

(usalb) G9600-00980

(usaJb) G9600-00980

(usaib) G9600-00980 Jsbueyn-go +J8un1-qo H

(usa1b) £9600-00980 1eBueyd-ag + snessep/oipey W

(use1B) £9600-00980 =

(usa1b) £9600-00980 w.

(usalb) £9600-00980 Jsbueyd-qgo + epassed/oipey &
-

(usalb) £9600-00980 %98Q-00 + 8Nasse/olpey =

(usa1B) G9600-00980 (Ajuo) Jsun1-q9

(usa1b) £9600-00980 (Ajuo) apessep/oipey

1INN AV3H NOILVYNIFGINOD

(r5601:-10980) ¥92@-@D 9°0 Ud3ID

(€1600710280) 408ueyd-qD 9°0 UBBID

(11600-10980) L9¥0WNL 426ueyd-q) Aemy opiH = (L0600-+0980) L9SryiL ~2bueyd-qd yseq-uj

(S)LINN NO-aayv +

| SIHOSSIDOV |
VLIOAOL &

p. 1/8

(aHY)

U ZINx OSIOA SISUBAY

1002 ‘W0l Alnr - 3deq "Aeq uoisiAld SO-JNINL

14VHO NOILVII1ddV oldanv




p. 2/8

Bununow yeas lobuassed : () 910N

(€0800-56980

)

WA+

(

0£091-124GS) X004y

Bununow ease abebbnT : (z) 8loN « [euondo Josuas ainjesadwal apisSINO : (T) 810N « 1M Bununo 1eas BuibueH = £0800-56980

(0£091-1255G) X0g-y

(0£091-1255G) X0g-y

(0£091-1255G) X0g-y
(0£091-1255G) X0g-y

(0£091-1255G) X0g-y
(0£091-12556) X0g-y
(0£091-1255G) X0g-y
(0£091-1255G) X0g-y
(0£091-1255G) X0g-y

(€0800-66980) Y/4 + (0£09}-1255S) X00-Y

S1yvd TVNOLLIAAV a3dINd3Y

00-L¥£06-LE¥Zd 86210}S-QD 10 00-27E06-LEVZd dbeI0)S-0}39SSRD
(20800-5580) 00ZSNL woysAs uonebirey
(£0800-57580) 00SSN.L weysAs uonebirey

(¥£600-00980) }0ZHINL
(¥£600-00980) }0ZYINL
(22600-00980) L0EY4L
(22600-00980) L0EY4L

(#£600-00980) }0ZHINL
(22600-00980) L0EY4L

(2£600-00980) £00ZNL
(02600-00980) 200Z4L
(££600-00980) 000¥dL
(¥£600-00980) }0ZHINL
(22600-00980) L0EY4L

(9£600-00980) ¥L¥VINL
(22600-00980) ZL¥VINL

(2£600-00980) £00ZINL
(02600-00980) 200Z4L
(££600-00980) 000tdL
(¥£600-00980) }0ZHINL
(22600-00980) L0EY4L

Jabueyn-qo + enessen/oipey

%090-QD + SHOSSED/OIpEY

obelojs

anesse + ajjessen/olpey

(Ajuo) Jeun1-qo

(Auo) spessed/oipey

Hun-peaH Nidl

1INN AV3H

NOILVNIGNOD

(22800-06980) 00E0NL %920-2})9SSED
{20600-L0980) 117041 ¥99@-0D
(20600~15380) :950ML 496ueYyd-@d Yyseq-u
(1L600-L0980) 950N 496uBYD-q) Aemy apiH

(00600-10980) 0990 4oBueyd-aW  (Z1600-10980) L9¥0N.L 136ueyd-qd bununoy jees

(S)LINN NO-aQV +

| STHOSSADTY |
YLOAOL

(aHY)

U2« OSIOA SISUGAY

1002 ‘W0l AInp - 1de@ AeQ uoIsING SO-IJININL

14VHO NOILVYIIlddV oldnv




Bununow 1eas lobuassed : () 910N

(£0800-56980) /4 + (0£09}-12GGG) X0Q-y
(£0800-56980) W/d

(£0800-56980) W/4

(€) (£0800-G6980) M/4

(£0800-56980) W/4

(¢) (£0800-G6980) M/4 + (0£091L-12GSS) X0G-Y
(¢) (£0800-G6980) M/4 + (0£091L-12GSS) X0G-Y

S1yvd TVNOLLIAAY a3dINd3y

00-L£06-LE¥Zd 26e103S-9 10 00-Z¥E06-LEHZd dBRIO)S-0)39SSRD
(20800-6+580) 00ZSN.L weysAs uonebirey

(£0800-G¥580) 00SSN.L we3sAs uonebirey

Bununow eaJe abebbnT : (Z) 10N

[euondo Josuas aineladwsal apIsINQ : (T) 910N«

9
(\}

(22600-00980) LOSF4L

—

¥£600-00980) L0ZYINL
¥£600-00980) LOZYINL
22600-00980) L0gY4L
22600-00980) L0gY4L

—_——~

(22600-00980) LOSF4L

(22600-00980) LOSF4L
(22600-00980) LOSF4L

(£600-00980) L0ZFINL
(22600-00980) L0EF4L

(¥£600-00980) LOZFINL
(22600-00980) LOSF4L

(¥£600-00980) L0ZFINL
(22600-00980) LOSF4L

uy Bununon ress BuibueH = £0800-56980

Jabueyn-gn
+ Jabueyn-qo + spesse)/olpey

abe.ojs-ssen/an
Jabueyn-qo + apesse)/oipey

Jabueyn-gn
+99Q-00 + a)jesseD/oipey

Jebueyn-qo
+99Q-00 + a)jesseD/oipey

uonebineN
dep [In4 + epessep/olipey

JabBueyo-qp + snesse)/oipey

Jabueyn-go ysep u| + ajjasseD/olpey

¢l

L

ol

Hun-pesH Nidl

1INN AV3H

NOILVNIGNOD

(22800-06980) 00£0WL ¥230-2)39558D

(90600-10980) LL¥041 ¥990-0D
1£0500-L6380) L9SON.L +o6ueyd-qo yseq-uj

(11600-L0580)-59¥0I L 496ueyd-qD Aemy apiH
(00600-£0980) 0990L +o6ueyd-aN  (21600-10980) L9¥0WL 486ueyd-qd Bununoyy jeas

(S)LINN NO-aav +

| SO SIS |
V1OAOL

p. 3/8

(aHY)

UsZIN+x OSIOA SISUBAY

100Z ‘W0l AInp - 1deq "AsQ uoisINd SO-IWINL

18VHO NOILVOIlddV oldNnVv




p. 4/8

Bununow 1eas lobuassed : (£) 910N -

(€) (£0800-G6980) M/4
(€) (£0800-G6980) M/4

(€) (£0800-G6980) M/4

(£0800-56980) 1/ ®

S1yvd TVNOLLIAAV a3dINd3y

00-¥£06-2€Zd 96e10}S-@ 10 00-ZvE06-LEVZd 9heI0)S-9))9sSED

gy

a4

3\
o

(20800-6+580) 00ZSN.L weysAs uonebirey

(£0800-G580) 00SSN.L weysAs uonebirey

Bununow eale abebbnT : (Z) 10N

S\ S
CR N ]

LA\

[euondo Josuas ainteladwal apisINO : (T) 810N « U Bununoly 1eas BuibueH = £0800-S6980

® (9£600-00980) ¥} ¥FINL
(9£600-00980) ¥} ¥FINL
(6£600-00980) Z}¥HINL
(22600-00980) L0EF4L
(¥£600-00980) L0ZFINL
(22600-00980) L0EF4L
(¥£600-00980) L0ZFINL
(22600-00980) L0EF4L
(22600-00980) L0EF4L
(¥£600-00980) L0ZFINL

(22600-00980) L0EF4L

(22600-00980) L0EF4L

¥oa(Q-elesse) + Jaun|-qo

abeiojs-q9 + Jauny-qo

uonebineN dejy [In4 + Jabueyn-ao
+ I1obueyn-qiy + snesse)jolpey

uonebiaeN dep [In4
+ Iobueyn-qiy + snesse)jolpey

abelojs-ssen
+ JeBueyd-qN + spesse/olpey

Jabueyn-qg + Jebueyn
-{D ysep U] + spassed/olpey

uonebiaeN dep [In4
+ JaBueyn-qo + spesse)jolpey

abeu0)s-ssen/qo+iebueyd-ai
+ JeBueyn-qo + spessep/oipey

0¢

6l

8l

Ll

9l

Sl

vl

€l

jun-peaH Nidl

1INN QV3IH

NOILVNIENOD

(22800-06980) 00£0N.L ¥20-2)39sSBD

(90600-L0980) LL¥041 ¥990-0D
(20500-15980) ;950N 496ueYy9-q9 Yseq-uj

(11600-10980)-£9¥0I.L 49BueY9-qD Aemy apiH
(00600-£0980) 0990L +o6ueyd-aN  (21600-10980) L9¥0WL 496ueyd-qd Bupunoyy jeas

(S)LINN NO-aav +

| SO SSID Y |
V1OAOL D

(aHY)

U+ ZIN+x OSIOA SISUBAY

1002 ‘WOl Ainr - 1de@ A8 uoisiNg SO-ININL

18VHO NOILVOI1ddV oldNnVv




Bununow 1eas lobuassed : () 810N e« Bununow eare abebbnT : () 810N « [euondo Josuas ainresadwal apisiNO : (T) 210N « 1Y Bununo 1eas BuibueH = £0800-S6980

(€) (£0800-56980) /4 )

(£0800-66980) M/4

(€) (£0800-66980) W/4 + (0£094-12GGG) X004y

(£0800-66980) Y4 + (0£09}-12G5S) X0q-y
(0£091-1255G) X00-y

S1yvd TVNOLLIAAV a3dIind3y

00-L¥£06-LE¥Zd 9beI0)S-0D 10 00-Z¥E06-LEHZd DbeI0)S-0)9SS8D
(20800-5¥580) 00ZSN.L waysAs uonebirey

(£0800-57580) 00SSNL wasAs uonebirey

uonebineN dep [in4

(9£600-00980) YLEYINL +Jobueyd-gi +Jeun1-qd | ez
abelojs-q9
(9£600-00980) YLEYINL +Jobueyd-gi +Jeun1-qd | 2z
uonebineN dep [in4 -
(9£600-00980) YLEYINL +Jebueyp-go +4eunL-qy 9z I
=
(9€600-00980) 74 ¥¥INL abelojs-q9 -
(9£600-00980) YLYINL +Jebueyn-go +4eunL-qy | sz %
o
(9€600-00980) 74 ¥¥INL uopebineN dep N4 +Jeun1-q0 ¥ &=
-
=
(9£600-00980) YLEYINL JebueyD-ai +J4eunl-q0 | €z
(9£600-00980) ¥LYINL JeBueyd-qo ysep uj +8unt-qQ |z
(9£600-00980) YLEYINL
(9£600-00980) YLEYINL Jebueyg-go +48un1-q0 |12
LINN dV3H NOILVNISINOD

(22800-06980) 00EONL 4920-0}9S58D
(90600-10980) L1041 493009
(40500 L0980 L9SONL 496uBYD-q9 Yseq-uj
(11600-10525/ 190N.L 106uey9-aD Aemy apiH

(00600-10980) 0990L 4oBueyd-aW  (Z1600-10980) L9¥0I.L 186ueyd-qd bununoy jess

(S)LINN NO-aQV +

| SRLHOSSIDY |
VLIOAOL

p. 5/8

(QHY)

U2« OSIOA SISUIAY

1002 ‘Wol AInr - 1da@ "AeQ uoIsINId SO-ININL

1dVHO NOILVIIddV olanv




p. 6/8

Bununow 1eas Jabuassed : () 910N

(£0800-G6980) Y/4
(£0800-G6980) Y/4

(€) (£0800-G6980) W/
(€) (£0800-G6980) W/

(£0800-G6980) Y/4

(£0800-G6980) Y/4

S10198UU02-0IpNe 42T pue 48T ayl yum paddinba-aid si 8)91yaA ayl JI a|qissod Aluo @
Bununow ease abebbn: (z) @1oN . [euondo Josuss ainjesadwal apiSINO : (T) 810N - Y Bununop 1eas bulbueH = £0800-S6980

S1yvd TVNOLLIAAV a3dIN03y

00-L¥£06-LE7Zd 36210}S-QD 10 00-2¥E06-LEVZd dbeI0)S-0})9SSRD
(20800-6¢580) 00ZSN.L woysAs uonebirey
(£0800-57580) 00SSN.L weysAs uonebirey

e C®
e C®
(3 \)
c®
=
@
C@
e
e

(1) eyou-(usaib) 81600-00980

Jabueyn-an

Jun-dON + ‘_wmcmco-n_o + 9)JasSSe/0Ipey e
(1) ®j0u-(usaib) 87600-00980
nN-don (191) uonebinen + sjassedjolpey €€
(1) ®j0u-(usaib) 8¥600-00980
HuN-dow JeBuey) Qi + enessepjoipey  |2€ W
=3
(1) syou-(usa1b) 8¥600-00980 "
(1) s1ou-(usaib) 8v600-00980 o
HuN-dow =2
HuN-dow JeBueyn-qo + epessepjoipey (€
N
(1) ejou-(useub) v-85600-00980 /|\
HN-dow (Auo) Jeun]-qo 0
(1) ®j0u-(usaib) 8¥600-00980
nN-don (Ajuo) epsssepjoipey | 62
1INN AV3H NOILVNIGINOD

(22800-06980) 00E0N.L ¥230-2)9558D
(9n500-10980) LL¥041 ¥920-09

(28600-15980) L9SON.L 49BueYyd-q9 Yyseq-u|
(11600-L980) L9YON.L 49BuRYD-qD Aemy apiH

(00600-10980) 09901 +oBueyd-aW  (21600-10980) L9¥0N.L 186ueYyd-qd bununoy jees

(S)LINN NO-aayV +

| SFLOSSIADTV |
YLOAOL

(aHY)

U2« OSIOA SISUGAY

1002 ‘W0l Ainr - de@ A8 uoisiNg SO-ININL

1¥VHO NOILVIIlddV oldanv




$10}98UU02-0Ipne 42T pue 48T ayl yum paddinba-aid si ajo1yan ayi yi 9|qissod Aluo @
Bununow 1eas lobuassed : () @1o0N .« Bununow ease abebbnT: (g) @1o0N « [euondo Josuss ainjesadwal apisiNO : (T) 210N « WY Bununop 1eas BulbueH = £0800-S6980

(€) (£0800-G6980) W/4
(€) (£0800-G6980) W/

(£0800-66980) Y/4

(£0800-66980) Y/4

S1yvd TVNOLLIAAV d3dind3y

00-47€06-L£Zd 9BeI0)S-q9 410 00-27E06-LEVZd 2bel0}S-0))9ssED

(20800-¥580) 00ZSN.L waysAs uonebirey
(£0800-¥580) 00SSN.L waysAs uonebirey

C® 4 )
c® ®
c® o
c® ®

(1) s1ou-(usaib) v-85600-00980

nn-dow (L91) uonebineN +Jsun1-qQ 0¥
(1) s10u-(usaib) v-85600-00980
HuN-dOIN ._wmcmco.m__\/_ +Jaun]-qo 6¢
(1) syou-(usaib) v-85600-00980
(1) ®10u-(usaib) v-85600-00980 =
1uN-don o
nn-dow iobueyp-qo + Jeun]-q0 8¢ @
o
(1) e10u-(usaib) 8600-00980 (191) uonebineN + Jebueyd-qo =
nnN-dow + loBueyd Qw + snessepjoipey L€ 4\ |
(1) e0u-(usaib) 8600-00980 (191) uonebineN
nnN-dow + loBuey) Qw + snessepjolpey  |9€
(1) e10u-(usaib) 8600-00980 (191) uonebineN
nN-dow +JoBuey-go + spesse/olpey  |S€
LINN @v3H NOILVNIGINOD

(£E8L0-25280) 00E0N.L %290-8}8SS8D
(90600-13980)-4 1041 ¥290-09

(£0600-10980) L9SOW.L 49BueY9-ad Yseq-uj
(1L1600-L0980) L9¥OWN.L 49B6ueYyd-qD Aemy apiH

(00600-10980) 09901 49Bueyd-aN  (21600-L0980) L9¥0INL +06ueyd-qd Bununoy jess

(S)LINN NO-aaV +

| SRLHOSSIDV |
VLOAOL (5

p. 7/8

(aHY)

U2« OSIOA SISUIAY

1002 ‘WOl AInr - jdag "AeQ uoisINg SO-ININLL

1dVHO NOILVIIlddV oldnv




p. 8/8

S10198UU02-0IpNe 42T pue 48T ayl yum paddinba-aid si 8)91yaA ayl JI a|qissod Aluo @

Bununow 1eas Jobuassed : () 910N

Bununow eare abebbnT : (g) s1oON

[euondo Josuas ainteladwal apIsINQ : (T) 910N  «

Y Bununow ress BuibueH = £0800-56980

(€0800-66980) M/4
(€0800-66980) M/4

(€0800-66980) M/4
(€0800-66980) M/4

S1¥vd TVNOLLIAAV d3dIiND3Y

00-47£06-LEVZd 96e10}S-0D 40 00-29E06-LEVZd 9beI0)S-0))9558D

(20800-57580) 00ZSNL waysAs uonebirey
(£0800-57580) 00SSN.L wasAs uonebirey

(3"} 7@ @
c® e €
(3"} ®
C® @
C® C®
(3") @
e C®
e C®

(1) s10u-(usa1b) ¥-85600-00980

(191) uonebineN + 1o6ueyD-q0

IuN-dow + Jobueyn-gn + Jeunl-qn v
(1) s10u-(usaib) v-85600-00980 (181) uopebinen =
Hun-dow + Jobueyn-gy + Jeuny-qo €Y W
R
(1) aou-(usalb) y-85600-00980 (Lg1) uonebireN o
nn-dow +JaBueyn-go + Jeuni-qy  Tv =
(1) ®ou-(usaib) v-85600-00980 Jabueyd-an ﬂ » m

uN-down +Jabueyn-qo + Jaunj-qn (L

1INN AV3H NOILVNIGNOD

(22800-06980) 00£0NL #23@-0195S8D
(90600-50980) LL¥041 ¥990-09

(20669-L0953) L9SONL 4o6ueYyd-qd yseq-uj
(11600-10980) L9PONL 49Buey)-q) Aemy opiy

(00600-£0980) 09901 49Bueyd-aW  (21600-10980) L970W.L 186ueyd-ad Bununoy jeas

(S)LINN NO-aaV +

| SHOSSIDITY |
VLOAOL 5

(aH¥)

2N« OSIOA SISUIAY

100Z ‘W0l AInf - 1deq “AeQ uoisING SO-IININL

14VHO NOILVOI'lddV oldnVv




Avensis Verso (M2) TOYOTA GENUINE AUDIO

2. SYSTEM LAYOUT @

2.1 CD-CHANGER

NOTE:

The preferred position of the CD-changer G3 is under the passenger’s seat [12].

In case of vehicles with navigation, the navi ECU is located under the passenger’s seat [i2. In this case the CD-changer 3
can only be installed in the luggage area [30.

To install the CD-Changer @) under the passenger’s seat [12], you need the seat mounting CD-changer TM0461 (08601-00912)
and the additional hanging seat mounting kit F/K (08695-00803). To install the CD-changer @) in the luggage area B30l you
need the hide away CD-changer TM0461 (08601-00911).

08-01 Avensis Verso (RHD) - 12



Avensis Verso (M2) TOYOTA GENUINE AUDIO

2.2 MD-CHANGER

NOTE:
The preferred position of the MD-changer is under the passenger’s seat. In case both the seat mounting CD-changer and

the MD-changer are to be installed, the MD-changer should be installed in the luggage area. In case navigation is instal-
led the CD-changer and MD-changer can be installed in the luggage area.

To install the MD-changer @) under the passenger’s seat 12, you need the MD-changer TM0660 (08601-00900) and the addi-

tional hanging seat mounting kit F/K (08695-00803).
To install the MD-changer @ in the luggage area B0, you only need the MD-changer TM0660 (08601-00900).

Avensis Verso (RHD) - 13 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

3. COMBO /ADD ON UNIT INSTALLATION

3.1 VEHICLE DISASSEMBLY

1. Remove the upper cluster [1].
{7 Clip (8x)

2. Remove the panel [2] and centre clus-
ter [31.
Remove the accessory box [4].

l fiodl: Screw (4x)

l fi02: Screw (1x)

| 7+ Clip (7%) + (8X)

3. Remove the brackets 5] (2x) from the
accessory box [4].
[f00]: Screw (8x)

Fig. 3
08-01 Avensis Verso (RHD) - 14



Avensis Verso (M2) TOYOTA GENUINE AUDIO

3.2 1DIN AUDIO INSTALLATION

1. Mount the brackets [5] (2x) to the audio
assembly @ and accessory box [4] or
add on unit.

[{00l: Screw (8x)

Fig. 4

2. Before fitting the audio . assembly @ to
the vehicle connect the vehicle’s audio
connector (10P/6P) and antenna.
fiol: Screw (4x)

1 —_— — 4)(
e

REFIT THE REMOVED PARTS.

Avensis Verso (RHD) - 15 08-01



Avensis Verso (M2)

3.3 1.4DIN AUDIO INSTALLATION

TOYOTA GENUINE AUDIO

WITH 0.6DIN ADD ON UNIT

1.

Fig. 6

Mount the brackets (5] (2x) onto the 1.4
DIN audio assembly @ and 0.6DIN add
on unit @.

fiod: Screw (8x)

WITHOUT 0.6DIN.ADD ON UNIT

Fig. 7

Fit the 0.6-DIN cover plate ®.

Mount the brackets [5] (2x) onto the
audio assembly ® and 0.6DIN cover
plate ®.

[00: Screw (4x)

[[18: Screw (2x)

Before fitting the audio assembly ® to
the vehicle connect the vehicle’s audio
connector (10P/6P) and antenna.

fiol: Screw (4x)

REFIT THE REMOVED PARTS.

08-01

Avensis Verso (RHD) - 16




Avensis Verso (M2) TOYOTA GENUINE AUDIO

3.4 WIDE-2DIN AUDIO INSTALLATION

& Only possible if the vehicle is pre-equipped with the 18P and 12P audio-connectors.

1. Mount the brackets (2x) onto the
wide-2DIN audio assembly ®.
[00: Screw (8x)

2. .Before fitting the wide-2DIN audio
assembly ® to the vehicle connect the
vehicle’s audio connector (10P/6P)
and antenna.

fioll: Screw (4x)

REFIT THE REMOVED PARTS.

Avensis Verso (RHD) - 17 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

4. CD-, MD-CHANGER AND SUBWOOFER INSTALLATION

4.1 VEHICLE DISASSEMBLY
4.1.1 IN CASE OF INSTALLATION UNDER THE PASSENGER’S SEAT

1. Remove the upper cluster [1].
{1 Clip (8x)

2. Remove the panel [2] and centre clus-
ter 3.
Remove the accessory box [4].
fi0l: Screw (4x)
fi02: Screw (1x)
{7 Clip (7x) + (8x)

08-01 Avensis Verso (RHD) - 18



Avensis Verso (M2)

Fig. 14

Fig. 15

Avensis Verso (RHD) -

3.

19

TOYOTA GENUINE AUDIO

Remove the shift knob [6] and shift
cover [71.
[03: Screw (4x)

Remaove the/under\box and lower
cover [91.

{7 Clip (5x)
£ Hook (2x)
[04]: Screw (5x)
[[{8l: Clip (1x)

Remove the front scuff plate (L) 10l and
kick panel (L) .

{7+ Clip (3%)

£ Hook (2x)

[[9: Clip (2x)

[{201: Hook (1x)

08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

4.1.2 IN CASE OF INSTALLATION IN THE LUGGAGE AREA

1. Remove the upper cluster [1].
.21 Clip (8x)

2. Remove\the panel [2] and centre clus-
ter 31
Remove the accessory box [4].
fiofl: Screw (4x)
fi02: Screw (1x)
{7+ Clip (7x) + (8x)

Fig. 17

3. Remove the shift knob [6] and shift
cover [7].
[03: Screw (4x)

08-01 Avensis Verso (RHD) - 20



Avensis Verso (M2)

Hooks

TOYOTA GENUINE AUDIO

4. Remove the under box and lower
cover [91.
[04]: Screw (5x)
[i16l: Clip (1x)
.31 Clip (5x)

5. Remove the glove compartment B4,

6. Remove the front scuff plate (L) 132 and
kick panel (L) B3.
{7+ Clip (3%)
£ Hook (2x)
[[9: Clip (2x)
[201: Hook (1x)

Avensis Verso (RHD) - 21 08-01



Avensis Verso (M2)

TOYOTA GENUINE AUDIO

7. Remove the rear scuff plate (L) [{7.
{7+ Clip (3x)
£ Hook (2x)

Fig. 22

8. Remove ‘the seat belt and centre
pillar cover (L)-9.
£7 Hook (2x)
[08): Clip (2x)

l [{15: Bolt w/ washer (1x)

Fasten the bolt with specified torque
when reassembling.

Fig. 24

9. Remove the cover 0.

08-01 Avensis Verso (RHD) - 22



Avensis Verso (M2) TOYOTA GENUINE AUDIO

10. Remove the luggage floor board [21.

11. Remave the luggage finish plate 2.
fiod: Clip (4x)

12. Remove the seat belt 23 and luggage
side trim (L) 4.
[{705: Clip (10x)
[{T1: Cover (2x)
[T13]: Screw (2x)
f[i8: Bolt w/ washer (1x)

Fasten the bolt with specified torque
when reassembling.

Avensis Verso (RHD) - 23 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

13. Remove the luggage floor trim 3.

Fig. 28

08-01 Avensis Verso (RHD) - 24



Avensis Verso (M2) TOYOTA GENUINE AUDIO

4.2 CD- AND MD-CHANGER INSTALLATION

4.2.1 HANGING UNDER THE PASSENGER'’S SEAT

1. Remove the passenger’s seat 2.
fi03: Cover (4x)
ficel: Bolt w/ washer (4x)

Fasten the bolt with specified torque
when reassembling.

2.\ Cut the'tape '@ (10 pieces).

Fig. 30

Avensis Verso (RHD) - 25 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

3. Route and attach the changer wire
using tape @ (7x).

Wire harness

Fig. 31

4. Remove the side cover (R) of the
passenger’s seat [i2.
[{07: Screw (2x)

08-01 Avensis Verso (RHD) - 26



Avensis Verso (M2) TOYOTA GENUINE AUDIO

5. Remove the knob [15 and side cover (L)
of the passenger’s seat [i2.
Remove the reinforcement bar [il.
[107]: Screw (2x)

[{21]: Bolt w/ washer (2x)

| FOR CD-CHANGER INSTALLATION |

©
M 6. Fit the side brackets ® (2x) and
©

dampers @ (4x) onto the CD-changer
@ using bolts @ and nuts @.

@: Bolt (M5x9) (4x)

®: Nut (M6) (4x)

@: Damper (‘6CDN’ Mark) (4x)

Loosen the screws before moving
them. Screw up after the position is
changed.

Holes Location

(@) o)
Left Right
awo O\ Ooaw w0 O\ Ooow
8CDN 8CDN
.Z?scm}gmw o% oo
Q6CDT 6CDTQ QO6CDT 6CDT°
Fig. 34

Avensis Verso (RHD) - 27 08-01



Avensis Verso (M2)

TOYOTA GENUINE AUDIO

Holes Location

(@)

Right

©01ao09

10090

Mo&qoﬁmn
SARE v
MD

sqfio

O

Fig. 35

| FOR MD-CHANGER INSTALLATION

6. Fit the side brackets @ (2x) and
dampers @ (4x) onto the MD-changer
@ using bolts @ and nuts @.
@: Bolt (M5x9) (4x)
@: Nut (M6) (4x)
@: Damper (‘MD’ Mark) (4x)

08-01

Fig. 36

|FOR CD- AND MD-CHANGER INSTALLATION

7. Fit the sub bracket (R) @ to the side
bracket (R) .
@: Bolt (M5x9) (2x)

Avensis Verso (RHD) - 28



Avensis Verso (M2) TOYOTA GENUINE AUDIO

8. Fit the sub bracket (L) @ to the side
bracket (L) @.
@: Bolt (M5x9) (2x)

9. Fit the sub bracket (R) ®, side bracket
(R) @ and spacer @ onto the passen-
ger’s seat [ right hand.

@: Bolt (M6x12) (2x)

@: Bolt (M6x25) (1x)

Replace the side cover (R) [4 onto the
passenger’s seat [12 right hand.

Avensis Verso (RHD) - 29 08-01



Avensis Verso (M2)

\\//mer_

=S

08-01

Fig. 40

TOYOTA GENUINE AUDIO

10. Fit the sub bracket (L) @, side bracket
(L) @ and spacer (6 onto the passen-
ger’s seat 12 left hand.

@0: Bolt (M6x12) (2x)

@: Bolt (M6x25) (1x)

Replace the side cover (L) and
knob 15 onto the passenger’s seat
left hand.

11. Route the-changer wire (8 and ground
wire @ (ground wire: only in case of
MD-ehanger).

Avensis Verso (RHD) - 30



Avensis Verso (M2) TOYOTA GENUINE AUDIO

12. Connect the changer wire and
the ground wire @ (ground wire: only
in case of MD-changer) to the chang-
er-unit.

@: Nut (M6) (4x)

CDichanger

Fig. 41

Avensis Verso (RHD) - 31 08-01



Avensis Verso (M2)

CD-changer

13.

TOYOTA GENUINE AUDIO

Fit the changer-unit to the sub brackets
@+@, under the passenger’s seat
using nuts @.

®: Nut (M6) (4x)

REFIT THE REMOVED PARTS.

08-01

Fig. 42

Avensis Verso (RHD) - 32




Avensis Verso (M2) TOYOTA GENUINE AUDIO

4.2.2 IN THE LUGGAGE AREA

1. Cutthe tape @ (10 pieces).

Fig. 43

‘i 2. |Route and attach the changer wire
as shown using tape @ (5x).

Fig. 44

Avensis Verso (RHD) - 33 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

3. Route and attach the changer wire
along the passenger’s side back door
using tape @ (2x).

4. Route and-attach the changer wire (8) as
shown using tape @ (3x).

|ONLY FOR MD-CHANGER INSTALLATION

5. Attach the ground wire @.
M12: Bolt (1x)

08-01 Avensis Verso (RHD) - 34



Avensis Verso (M2)

TOYOTA GENUINE AUDIO

‘VH' Holes
e \/
!,L—Xh‘io

~ |0 L]
~
o /HL\O

VH Holds
—\H— .
By

o o
\ /
H
o o

(2x)

sl

50mm =

,----_
NN
i\

Avensis Verso (RHD) - 35

| FOR MD-CHANGER INSTALLATION |

6. Attach the tapes (@ ,spacer @ and side
brackets @ (2x) to the MD-changer @.
@: Bolt (M5x9) (6x)
@: Tape
(1x)
(2x) Cut to size 67 x 40mm
(4x) Cut to size 25 x 30mm
@®: Spacer with nut (1x)

7. Location of the MD-changer @.

08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

8. Attach the MD-changer @ to the lug-
gage floor [8l.

9. Remove the-MD-changer @ from the
side brackets @ (2x).
@: Bolt (M5x9) (4x)

10. Cut the luggage floor trim 25 as shown
in the illustration.

Fig. 52
08-01 Avensis Verso (RHD) - 36



Avensis Verso (M2) TOYOTA GENUINE AUDIO

11. Fit the MD-changer @ between the
brackets (9 (2x).
@: Bolt (M5x9) (4x)
Connect the changer wire and
ground wire @ to the MD-changer @).

| FOR CD-CHANGER INSTALLATION |

i 6. |Atach the tapes @), spacers (4x),
‘ base bracket @ and sub brackets @
l (2x) to the CD-changer (.
@: Bolt (M5x9) (6x)
@: Tape

(4x)

(4x) Cut to size 67 x 40mm
@®: Spacer with nut (4x)

Avensis Verso (RHD) - 37 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

7. Location of the CD-changer ®.

8. Attach the CD-changer @ to the lug-
gage floor B8l

9.\ | Remove the CD-changer @ from the
brackets @+Q).
@: Bolt (M5x9) (6x)

08-01 Avensis Verso (RHD) - 38



Avensis Verso (M2) TOYOTA GENUINE AUDIO

10. Cut the luggage floor trim [25 as shown
in the illustration.

brackets @ (2x).

(Z:Bolt (M5x9) (4x)
! Connect the changer wire ® to the
l €D-changer ®.

‘ 11. Fit theCD-changer @ between the

REFIT THE REMOVED PARTS.

Avensis Verso (RHD) - 39 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

4.3 SUBWOOFER INSTALLATION
4.3.1 HANGING UNDER THE PASSENGER’S SEAT

NOTE:
The subwoofer is to be installed hanging under the passenger’s seat. The additional fitting kit (PZ425-50240-00) is required.

1. Remove the passenger’s seat 1.
[{09: Cover (4x)
fiodl: Bolt w/ washer (4x)

Fasten the bolt with specified torque
when reassembling.

2. Cut the tape @ (10 pieces).

Fig. 61

08-01 Avensis Verso (RHD) - 40



Avensis Verso (M2)

Wire harness

Fig. 62

Avensis Verso (RHD)

3.

4.

- 41

TOYOTA GENUINE AUDIO

Fold up the floor carpet 7.

Route and attach the subwoofer wire

harness using tape @ (5x).

Remove the side cover (R) [3 of the

passenger’s seat 2.
[{07: Screw (2x)

08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

5. Remove the knob and side cover
(L) (4 of the passenger’s seat [12.
Remove the reinforcement bar [i6.
[107]: Screw (4x)

[{21]: Bolt w/ washer (2x)

6. Remove 4 screws @ from the sub-

woofer @.
@): Screw (4x)

08-01 Avensis Verso (RHD) - 42



Avensis Verso (M2) TOYOTA GENUINE AUDIO

Fit the side bracket (R) @& to the pas-
senger’s seat [12| right hand.
@ : Bolt (2x)

Fit the side bracket (L) @ to the pas-
senger’s seat [12 left hand.
@3 Bolt\(2x)

9. Route the subwoofer wire @ under the
passenger’s seat [12.

Fig. 68
Avensis Verso (RHD) - 43 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

10. Before installing the subwoofer @
adjust the sensitivity to the correct
position.

HIGH CUT

Fig. 69

11. Fit-the'\subwoofer @ to the attached
side brackets +@) under the passen-
ger's-seat fi2 using screws @.

@: Screw (4x)

REFIT THE REMOVED PARTS

08-01 Avensis Verso (RHD) - 44




Avensis Verso (M2) TOYOTA GENUINE AUDIO

9. OUTSIDE TEMPERATURE SENSOR INSTALLATION N

NOTE:

Please check first whether the prewired connector is available. If it is not available fitting of the ther-
mistor is impossible.

1. Attach the temperature sensor @.

Fig. 71

Avensis Verso (RHD) - 45 08-01



Avensis Verso (M2) TOYOTA GENUINE AUDIO

08-01 Avensis Verso (RHD) - 46



TOYOTA

GENUINE PARTS



